Sl /E MA 7|E
L2017} Indy M &

0 0] =12 =l Akol XpAcH S414) 7|20 HBE $I/E3 MM 203} Indy A2| X0l A|Z{HE 3| T3] X|2 Ya3o|= Bt
J1E FHEY FYLA| SIS 23 71420 HBE 2 7|ES 5o, WA, FEUX 5 TS TE| IS5 A3 £ AALICH T3
Xl

of2f 2| S Yol HB10] FOf XY REdf ARRIR 22 200 obHSt S 2 EfLICt.

EZXl v Indy7 AM2|Z=(v2, v3)of| | X3}l
S/ES MM 2212 J|E (MM 2F 8l AMME] ZE)
v Of|O|TI 2 EEJ AT} XEN| ISt XpM|CH HH 22F Z3 kAo
S/EA MM HE
FEHII HSER0| %= Plug&Play 2E X|¢
Vv EAHEE L £42 M 7|5 X

<

XA )s v Hustg =y
=0 AFT200-KIT-NRMK R
=° v E[E HHEO|M HIZ AFR JHs 8t 3IH0] 7|5
v 8 EHe E5HFE UX| U MK 7|5 28 Obs
2250F v N0 7|20] Tt Okt 2Ho| 28 Its
(Eald, M, azeld §)
)
) ) S ('3 X)
1 , :
£ YouTube . S5 X
i —=
O Hgots oY Hole/RE X2 BY  ANEWES|/XIS3} 2ol

Indy7(v2, v3)




AIDIN ROBOTICS

J

*MEMiRES HEA ol S ALZ5HN 2

6&!/53 ﬂ*1 Number Part Product Quantity Explain
7 IE :l"*o-lg 1 FS004 AFT200-D80-C-H 1 CAN Hole Type
2 BSO012A AFT200-D80-FLG-R-A 1 =X 221509409-1-50-4
%EI}II;I- Indy H% 3 BSO013A AFT200-D80-FLG-T-A 1 EiX] & 1S09401-1-50-4
(Indy7 v2, v3)
4 E0021A TIE MOUNTS 3 H|o|E ElO| OHRE 85 (BE 37 Z3)
5 E0016A PIN-SUS-@6-14-H7M 2 Pin @6 14mm SUS H7(-) ISO8734
6 E0017A PIN-SUS-@4-10-H7M 6 Pin @4 10mm SUS H7(-) ISO8734
7 HS019A NRMK Cable SET 1 NRMK H& 3[0|= HIE
8 E0020A CABLE TIE 3 LielE Hol= Elo|
9 EO015A BOLT-M5-30 6 BOLT M5-30mm (SCM)
10 EOO014A BOLT-M5-10 4 BOLT M5-10mm (SCM)
11 E0023A BOLT M6-12 4 BOLT M6-12mm (SCM)
*l'%r Index Unit Value
Weight g 505(Sensor 2364, Bracket 269g)
Operating voltage VDC b
Max. Safe excitation voltage VvDC 12
Nominal force range N 200
Norminal torque range Nm 15
Resolution(Fxyz) N 0.15
Resolution(Txyz) Nm 0.015
Dimensions mm D8O * H52.3
3 YouTube IP Rating IP56
Operating temperature 10-60TC
(=15 £ils]
1%
V' 031-360-7926 W https://www.aidinrobotics.co.kr

W sales@aidinrobotics.co.kr vV Az QYA ot AlIC 2327 12-20, 55




